B AYKEIOY AATEBPA
S’y

a) 'Eoto log, 32=x. Tote
2
Iogl32=x<:>(%j =32 27 =2 -x=5<x=-5. Enopévag log, 32 =-5
2 2

1 1
"Eoto 100, —==X. Tote 10g,,——= =X <27 =93 =
2 Jar 93 Gar 93

1 L
@(33))(:32'32@33)(:32 2<:>3X_§C>X—§ |ng7i=§
2 6 93 6
16 16 " 5 (4
'E log - =—==x.T¢ log -.—= B = e s
Y) 'Eoto g\E25 ote g\E25 \/7 (4) (5j

52 (5)° x 16
o= =|=| ©==-2<Xx=-4.Enouévac log =—4
4 2 [25

4

Iogl64—x = (;j =64 = 27=2" = —x=6 = x=-6

log, 125=x = (25j =125 = 25% =125 = 5% =5 =

25

= —2X=3 > x=—g

log,\/3=x = 9" = J_:>32X_32:>2x_

|094—\/§ X:>(\/_) \/_:>22 —22 37X=E:> x=_

log,s5=x = 25 =5 :>52"_52 = 2X=

log 5125=x = (v5) 125 = 52 = 53:5 3= x=6

X X
log - 64 =X J2) = 22 = —=6 X =12
9 = ( ) 2 =

—
|ogwm=x = (16) =(22) 2“:[2 2;) =

I\JII—‘

l\)lH



Eoto log ; —=x. Torte:
3
81 2° 81 (2) 3
log ; —=x=,7 ===|=| =75=
216 3 16 3 2

X 4
:(EJZZLE) :>§=—4:>X=—8
3 3 2

12
‘Eoto log, 7 125 =X. Tote:

25

125 o) 125 (3) |5
|Ogg7—=X:> _ =1 = — =7_3:
2\ 27 25 27 5 3




